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(1) 54+8+7+342+5= (545) + (8+2) + (7+3) =30

I — |

(2) 12+15+8+5+38=(12+8) + (15+5) +38=78
L

(3) 48—18+59—19=(48—-18) + (59—-19) =(30) + (40) =70

(I

(4) 519—145=319+(200—145) =319+ (55) =374

1
(5) 331—19—81=331—(19+81)=331—(100) =231
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) 5—2—1=5—(2+1)=2

(6) 256—152—48+44=(256+44)—(152+48) =100

1
(7) 5X48%x2=48x% (5x2)=48% (10) =480

1
(8) 6X15X5=15%X (6X5)=15% (30) =450
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51—18=31+(20—18) =31+2=33

(1) 45429=45+4+30—1=75—1=74
@ (2) 94—37=54+(40—37)=54+3=57
(3) 365—176=165+(200—176)=165+24=189



